Multiply and Divide by 10 (])

Find each product or quotient.

14 X 10 = 1+10=
19 x 10 = 96 +~ 10 =
99 + 10 = 55+ 10 =
95 x 10 = 19 x10 =
36 +10 = 10x 10 =
39 +10 = 93 X 10 =
2+10= 5x10=
80+10= 14 =10 =
14 x 10 = 52 +10 =
36 +10 = 91 +10 =
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Multiply and Divide by 10 (J) Answers

Find each product or quotient.

14 x 10 =140 1+-10=0.1

19 x 10 =190 96 ~-10=9.6
99 +-10=99 55+10=5.5
95 x 10 =950 19 x 10 =190
36 +-10=3.6 10 x 10 =100
39+10=3.9 93 x10=930
2+10=0.2 5x10=50

80-+10=28 14+-10=1.4
14 x 10 =140 52 +10=5.2
36 +-10=3.6 91+10=9.1
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